QT Pythagoras o
Calculator

1. Work out the length of the unknown side in each of the triangles shown. Give your
answers correct to 1 decimal place.
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2. Work out the length of the unknown side in each of the triangles shown. Give your
answers correct to 1 decimal place.
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3. A 3.8 metre ladder is placed against a vertical wall. The base of the ladder is 0.8 metres
from the base of the wall. Work out how far the ladder reaches up the wall. Give your answer

correct to 3 significant figures. (2 marks)
—_— + - L
o = ‘; >
N v v -
[ P (o »O ¥

3%
. TR S L P b =3

\ .« = &L Q'S;Qa
bow® = b )

4. Tony is packing his suitcase to go to an exhibition. His suitcase is rectangular, and the
internal measurements are 982@ in length and 780‘rr=1’in width. Tony is a carpenter, and
would like to pack his 1.2m long metal ruler into his suitcase. Will the metal ruler fit into
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Tony’s suitcase? You must show your working. (3 marks)
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5. The diagram shows a small cylinder, with radius 350cm and 80cm height. Points A and B
are diagonally opposite to each other. Calculate the Ienah AB in metres. Give your answer
correct to 2 decimal places.
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6. The diagram shows two right angled triangles. Work out the size of length x, giving your
answer correct to 3 significant figures. (4 marks)
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7. The diagram shows two right angled triangles. Work out the length x. Give your answer
correct to 1 decimal place. (4 marks)
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8. The shape ABCD is a square, with a diagonal of 5cm, as shown in the diagram. Work out
the perimeter of the square. Give your answer correct to 3 significant figures.
(4 marks)
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